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T T Wiferd |

Note: (i) There are in all 30 questions in this question paper. All questions are compulsory.
(i) Question No. 1 to 8 are very short answer questions and carry 1 mark each.
(iii) Question No. 9 to 18 are short answer questions and carry 2 marks each.
(1v) Question No. 19 to 27 are also short answer questions and carry 3 marks each.
(v) Question No. 28 to 30 are long answer questions and carry 5 marks each.
(vi) Use Log tables, if necessary. Use of calculator is not allowed.

(vii) Start from the first question and proceed to the last. Do not waste time over a question, if you
cannot solve.

1. UGS &R, 95009 o 1
Natural rubber is polymer of—

(@) uwEfo® ora &1 (@) smEda BT (M) S @ (&) St @

Acrylic acid [soprene Ethene Benzene
2. ufafaferd g— , 1
Penicillin is—
(@) dreER (@) wfifawses (M) IR (=) wforsifas
Analgesic Antiseptic Antipyretic Antibiotic
3. AFMaRISS P IITER B 1
The example of monosaccharide is—
(@) o (@) cioer (m) e (5) zerd
Glucose Lactose Maltose Starch
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4. UAze @ W A ofafta famr o g 1

Amide is converted into amine by—

(@) efpam afifsar | (@) wifderedr affsar &
Hoffmann reaction Carbylamine reaction
(m ofes aififear & (&) worgEs afhar 9
Perkin reaction Claisen reaction
5. e 8 9 9 ofr e o svafia &var g - 1

Among the following, which one reduces Fehling solution —

(@) Usiifes (@) Iirgs () sifeafers sva (8) wife ar

Acetic acid Benzoic acid Oxalic acid Formic acid
6. @I @ e Yol § uRafia fear s 8- 1
Glucose is converted into ethyl alcohol by—
(@) g=cE A (@) g 4 (M) wigEE ¥ (&) Heed ¥
Invertase Emulsin Zymase Maltase

7. Y SeENT §— 1
Milk is an example of—

(@) ot BT (@) graE @1 (1) arfa® fGeas &1 (°) 317 &1
Gel Emulsion True solution " Foam
g, Fr=feiRaa Wigell # fbw ovE &1 AT § — 1

' Which type of isomerism is present in the following compléexes —

[Crd,0)JC, , [Cr(H,0),Cl]CL.HO

(@) WIS WHGIad () sl gHTaga
Optical isomerism Geometrical 1somerism
(M) SygEHge FHEITH (&) STerdraT HHEga
Co-ordination isomerism Hydrate isomerism
9. prEfp—uRaTEEES @) SuRyfy # vefF @ FgeliE o B wHeEd | 2
Explain the polymerisation of ethene in the presence of organic peroxide.
10, forre @1 € ? Uo WO U Uh SariE ferTe o 3 el | 2

What are ligands ? Write the formula of a negative and a neutral ligand.

11. WWW—WWﬁ.ﬁﬁWﬂm@ﬁﬂﬁqﬁmﬁﬁWI 2

Define Antacids and Antihistamines giving one example of each.

12. SR Afed |9sgd 6 d-wife oo i 3mad e € SR Sgg=eE O gaikid dd
gl 2

Explain with reasons that d-block elements form coloured compounds and show paramagnetic properties.
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13.

14.

16.

17.

18.

19.

20,

= e sififesar & frafef fafed — 2

Write down the mechanism of the following chemical reaction —
H

Nu: + R—flz—x ——— (D

H
FARIAA  SURNT NI w1, S FeivTEe # SuRerd aelidi IRaTY & ardem
fsparelie €, =i ? 2

Why chlorine atom present in chlorobenzene is less reactive as compared to chlorine atom present in
ethyl chloride ?

U PItGHT T fhved TTAd H a9 &Y fpe a¥r ? 2

How will you differentiate between unit cell and crystal lattice ?

faRre aresar g AR TTamar ®F IR FIRE | 37 99§ T T & 7 2

Define specific conductivity and molar conductivity, What is the relation between these two ?

43 Riem @ SR R sEdTee & ded o B faked | 2

Write electric properties of semiconductors on the basis of Band Theory.

3120 (OR)
Wﬂﬁﬂﬁmmﬁ:ﬂ?ﬁﬁﬂ:ﬁﬂ{bcﬂﬁﬂwmiﬁﬁ?aﬁmZBEpm%I

O BT T 72 glem’ & | T T B 208 g H ey uramey FufRer ¥ ?

The structure of an element is body centred cubic (bec) and its cell edge is 288 pm. The density of the
element is 7.2 g/cm’. How many atoms are present in 208 g of this element ?

znnmlmﬁﬂ.zgzg#r%wmgwﬁiWﬁﬁﬁuﬁﬁmawwm}
FTA HITA | (NaCl = 58.4 g/mol) 2

0.292 g of sodium chloride is dissolved in 200 ml of water. Calculate the molality and mole fraction
of the solute in the solution. (NaCl = 58.4 g/mol)

(@) snaemd T STRES VAT o @ B ¥ 7 SereRT witd adrsd | 2
What are essential and non-essential amino acids ? Write with examples,

(@) fefe C o1 wRmafe 9@ o & ? gwa o ¥ T 9T e 2 7 1
What is the chemical name of vitamin C ? Which disease is caused by its deficiency ?

(@) Afdve dfergs wwewT gR Wl W9 B9 T o # ? 2
How primary amines are prepared by Gabriel phthalimide synthesis ?

(@) I~eRTEIFTT RS ¥ R 39 778 W 2 ? 1

How fluorobenzene is prepared from benzenediazonium chloride ?

430 (IBA) 1.3 ] [ PT.O.



21, (@)
(@)
22. (@)
(@)
23. (@)
(@)
24. (@)
(@)
25. (@)
(@)
26. ()
(@)
430 (IBA)

Selagie [T @ SR U amad Gl § AEere, BEhiNd 9 AT & @i
@ fademT S | 2
On the basis of electronic configuration, discuss the position of Nitrogen, Phosphorus and
Arsenic in the periodic table.

TR, TN, SME 91 S § o aifcas w9 &1 7 1
Among F, Cl, Br and 1, which one is of metallic nature ?

ARAIES ATHAT B TS | 2
Explain lanthanoid contraction.

Co** & Selaei=id fawurg farfiad | 1
Write down the electronic configuration of Co?*,

Wi e 7 arawe ¥ e fafad | 1
Write difference between minerals and ores,

JTERI B GEY B B wigq Yy &1 avis Sifs 3
Describe the froth floatation method for the concentration of ores.

fevsar wg F1 FHETSY | 2

Explain Tyndall effect.
fdrEgor g gy § g S 1

Differentiate between adsorption and absorption.

e gHreer forfad | 1
Write Nernst equation.
frferRad de & o 25°C R Ted a8 9o (e.m.f) B T B — 2

Zn| Zn* (0.01 M) || Ag” (1.0 M) | Ag
25°CUR E°, =1.56 V

Calculate the e.m.f. of the following cell at 25°C —
Zn | Zn* (0.01 M) [ Ag' (1.0 M) | Ag
E?, =1.56V at25°C

cell

faeTae @ WRRY 7 ¥ F@r e g 7 i
What is meant by osmotic pressure of a solution ?

TSP (SR = 180) B 0.5% AT &7 18°C W WRERYT <19 & T AR | 2
(farerg= ReRies S =0.0821 L atm K- mol™)

Calculate the osmotic pressure of 0.5% solution of glucose (molecular weight = 180) at 18°C.
(Solution constant S = 0.0821 L atm K-! mol™)
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27. faEmggroEe Al grr yiafe, fidfue T gdne temieta 4 o9 v R amar
g 7 e aHeT wied wensd | 3
How primary. secondary and tertiary alcohols are distinguished by dehydrogenation method ? Explain
with chemical equations.

4T (OR)
(@) O, teprie 9 SaTeT SR a7l B § ? 1
Why phenols are more acidic than alcohols 7

(@) p-ERDEE, B § T T ey & ? 1
Why p-nitro phenol is more acidic than phenol ?

(m uRenfEa RaRe ¥ gepEla fbamr it g & ? 1
How much percentage of alcohol is present in rectified spirit ?

28. () A e AffHE & o sfeRe & IRMRS T 9 sdeTgETe § ® e R ? 2
What is the relation between initial concentration of the reactant and half life time for first
order reaction ?

(@) F=feiEd sfisel ¥ ushia AIRE 5 afifFar A— B+C  worg 9ife 3 2= 3
From the following data show that the reaction A—— B+ C is of first order—

WHg (e )/ Time (in minute) 0 20 40
‘A’ @ HFRAT (M) ¥/ Concentration of A(in M) 0.6 0.4 0.267
34T (OR)

(@) =iEd & wm i s o o Rerie, sfeRST & TR W FR 98 @ & 3
Show that the rate constant of the first order reaction does not depend on the concentration of
the reactants.

(@) sfAfba & 971 R WRY, 9, <9 T SRS ST WNE FHESY | 2
Explain the effect of concentration, temperature, pressure and catalyst on reaction rate.

29. famferRag & wro G — 1x5=5

Give the reasons of following —

(® H,0%=9 & Weld HS |
H,0 is liquid whereas H_S is gas.

(@) PCL =M & 4R NCI, &1 |
PCI, is known but NCI, is not.

(M) CI-&T aeR ClURHAY] & ge7 &

The size of CI- is larger than that of CI atom.

(@) W T g 4 e i 9t SuRefy sravae 2
Presence of an inert gas is essential in the preparation of phosphine.

(®) worIRE v, ATRNGRS B o & 1 Bear 2

430 (IBA)

Sulphuric acid acts only as an oxidising agent.

AT (OR)

[5] [ P.T.O.



g HE Rafdd BT ? st @ aier AR —
How will you convert ? Give equation of reactions —

(@) Ui @1 fofar (gffas wikms (@) 9w Acie @ ORe sarss ¥

Alumina into anhydrous aluminium chloride Ferrous sulphate into ferric chloride
() TS B I P BHIEHRE (8) EEH @1 amaifes e #
Bone ash into phosphorus lodine into iodic acid

() el o B ERT

Nitric acid into nitrogen

30. o srwihanetl @1 e wex it fofa— 1x5=35
Write the following reactions with chemical equations—
(@) <o srfafsan (@) Ueeidl Huwe
Stephen reaction Aldol condensation
(m) BFemrRr s (&) sewEre Sifereat sifafema
Cannizzaro reaction Hell-Volhard-Zelinsky reaction
(®) wIee—sbrey URyeltavur afdfear
Friedal-Craft’s Acylation reaction
34T (OR)
(@) A= o 39 ofRafa s 3
How will convert the following—
(i) CH,CHO —— HCHO (i) C;H,COOH —— C H,CONH,

(iii) C,H,0H —— C,H,COOH

@) = @ smsgdiod s fofea- 2
Write down the IUPAC name of the following—
NO,
|
(i) HOOC—CH—CH—C—CH, (i) H,C—CH—CH,—CH,—C—CH,CI
| | | | |
Cl Br CH, CH, 0

o e e
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Note: (i) There are in all 30 questions in this question paper. All questions are compulsory.
(ii) Question No. 1 to 8 are very short answer questions and carry 1 mark each.
(iii) Question No. 9 to 18 are short answer questions and carry 2 marks each.
(iv) Question No. 19 to 27 are also short answer questions and carry 3 marks each.
(v) Question No. 28 to 30 are long answer questions and carry 5 marks each.
(vi) Use Log tables, if necessary. Use of calculator is not allowed.
(vii) Start from the first question and proceed to the last. Do not waste time over a question, if you

cannot solve.
1. Eger @ g ? SeERY |l 9dngd | 1
What is sorption ? Write with an example.
2. W@ [CoCL(NH,),] & wfiea wamaady fofad | 1

Write geometrical isomers of the complex [CoCl,(NH,),].

3. BIE—HE YR TYT TUATA B AR HHM E, U] UUH @1 deFie S3—ARe 22
[ arferE ® | R Ry | 1

The molecular weight of dimethyl ether and ethanol are same, but the boiling point of ethanol is
higher than dimethy! ether. Give reason.
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10.

11

12.

13.

14.

15

=1 aifdfisar & [A]em [B]#T & —
What are [A] and [B] in the following reaction —

CH=CH +H,0 —5a— [A] —2 [B]
TqEp AT wav {59 ded € ?

What is quartenary ammonium salt ?

THEY el @ ey faeas ¥ Raex smaw wvaer & ol |

Write the zwitter ion structure in aqueous solution of amino acids.

&Y P gedAE 5 yer fhar omar & 7

How the vulcanisation of rubber is performed ?

TP @7 & 7 e GveeT fofdd |

What is saccharin ? Write its structure.

fed Wil a1 Udhd IS bl GAsngy |

What are crystal lattice and unit cell ?

de g @ IR W eEEad @ defd Uil oI falEd |

' Write electric properties of semiconductors on the basis of Band Theory.

e AT e @ 1.0 UTH B 10 UM Sl H Hied Y, d9eEiE § g 1°C 3T il

& fierg & SR &Y o B | ( d9F @ folg K, =2.53 K kg/mol € )

2

When 1.0 gm nonvolatile substance was dissolved in 10 gm benzene, elevation in boiling point was
found 1°C. Calculate the molecular weight of dissolved substance [ K, for benzene is 2.53 K kg /mol ]

A9 BISeIe Soiagrs @1 it aois @iford |

Describe the standard hydrogen electrode with diagram.

frrfofen & seragiie fam faRay —

Write down the electronic configuration of following —
(@) o (@) Co

fere @ & ? Us FTOTHS TU1 U SerE fores &1 T oy |

What are ligands 7 Write the formula of a negative and a neutral ligand.

e & 9 frwar faga sl wdifes & ? e folked |
Which one has the highest dipole momnient in following ? Give reason.
(i) CHCL (i) CHCI, (iii) Ccl,

430 (IBB) [ 2]
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16. (@) TR~ 9 SIS g9 @ sfafar folay | 1
Write down the reaction to prepare DDT from chlorobenzene.
(@) &y TR § ST By g By ? 1
How will you prepare toluene from chlorobenzene ?
17. (@) wwrEds & armers dgeaxy har fafed 9 Sare @ @ ke | 1
Write addition polymerisation of Styrene and write the name of the product.
(@) e o1 dvgTos g folted | 1
Write structural formula of Terylene.
18, (#) wWga & fGoga ¥ fee Saio o1 90Ed | l
Write micelle formation in soap solution.
(@) et &1 dyvaes g ferfed | 1
Write structural formula of Paracetamol.
ST (OR)
At & aeffevoer @1 e fEwer i | 2
Give a brief account of classification of drugs.
19. () omeel faorms o uftwmer fafay | 1
Write definition of an ideal solution.
(@) NaCl® T SHHHS [Idus &7 IRIERT g9 300 K UR 4.6 atm & | 39 fagie= &
HIST @1 T BIGT | (R = 0.0821 lit-atm / degree/ mol ) 2
Osmotic pressure of a decinormal solution of NaCl at 300 K is 4.6 atm. Calculate its degree
of dissociation. ( R = 0.0821 lit-atm / degree / mol )
20, (@) e W e | 1
Write Nernst equation.
(@) HCl,NaCl e CH,COONa @ ferq A & #IF e 426.1, 126.5 I 91.0 mho cm? mol ' & |
ufifes onet & forg A2 & A1 91 TOFT Fi | 2
The value of &> for HCI, NaCl and CH,COONa are 426.1, 126.5 and 91.0 mho cm? mol™
respectively. Calculate 4™ for CH,COOH.
21. P R i ool forlad— 1+1+1 =3
Write short notes on the followings—
() @i G (@) =iy fram () UEreRer
Gold number Hardy-Schulze rule Peptization
430 (IBB) [ 3] [ P.T.O.



22. (@) @i 9 aeed # =R folad | I
Write difference between minerals and ores.

@) ®9 wad fafr & swn] & greEe Sy e S g 7 2

How concentration of ores is done by Froth floatation method ?

23, (@) =sfed srer a9 @ warTeTen Ay faftad )| 1%
Write laboratory method for the preparation of nitric acid.
(@) TRERE D O sl @ HEEd R | 1%
Write the structure of three oxoacids of phosphorus.
24, = @) HHSIRA- 1+1+1=3
Explain the following—

(@) arfere Hwmao oo e sifediesor savemd wefdia oe
Most of the transition elements show variable oxidation states.

(@) e ol @ sifwaR diffe e B B
Most of the compounds of transition elements are coloured.

(1) 3ME WHAY O e 990 A SR FaER Yeiia @ § |

Many transition elements and their compounds are paramagnetic in nature.

25. () fOTa oreig =aeR el o=ar g 9af ? 1
Phenol is acidic in nature. Why ?
(@) e e weHEe | v S| 1
Distinguish between methanol and ethanol.
(M =E-udE $or B @ sifedievr sifftrar forfad | 1

Write auto-oxidation reaction of diethyl ether.

26. WifA®, fedius ud goe Al @ ugEm @ (i o1 avie AR | =9 sl @
srarafed wHer H RifRad | 3

Describe the method for identification of primary, secondary and tertiary amines. Also write chemical
equations of the reactions involved.

37TET (OR)
=1 aifafranedt & qoi @fora—

Complete the following reactions—

(®) CHOH+NH, —82— e ‘%

430 (IBB) [4]



(@) RNH, + CHCL, + 3KOH(ale)) —— .cooveeveeee. Vh
(M) CHNH,+HCl —— ... +HNO, — % .. +2H,0 1
(8) NaO,SCHNH, —Teedl . +CHN(CH,), —3 5 ... +HCI 1
27. (@) uRadl gaur gei= @ sfeafta sifog | 1
Define mutarotation.
(@) amagas VAT o T § ? P SaTERYl g | I
What are essential amino acids ? Write one example.
@M fefrs A s Do oY fokad | 1
Write the functions of Vitamin A and Vitamin D.
28. (@) v e o afdfar & fau a7 Wi o seafy @ | 2
Derive the rate equation for zero order reaction .
(@) v Bife o e AREHAT & o 9 ReRid k &7 A 5.5 x 109 s gy 77| 29
afRfirar & for arg a1y @) o PR | 1
A first order reaction is found to have rate constant k= 5.5 x 10~ 57!, Calculate halflife of the
, reaction.
(m H,0,% faued @1 samfae! o1 seade F9 TeR far s g ? 2
How the study of kinetics is made for decomposition of HO, ?
SACT (OR)
o w wfire ool faRed- 1x5=5
Write short notes on the following—
@) wem T afbE A o oy
Half life period of first order reaction
(@) arfafhar @ &g o
Average rale of a reaction
() sffrar € PR
Order of a reaction
(®) 9 TN
Temperature coefficient
(@) oifRfEHar eX &1 ¥uce e
Collision theory of reaction rate
430 (IBB) [ 5] [ P.T.O.



29, (B) FEAWTEITSN # Sffediie W @ @1 Ay @1 wiRe avie S | 3

Describe the laboratory method for preparation of oxygen gas with a labelled diagram.

(@ wowt T8 SfFRTEs (SO,) &1 favers o7 eremd grar 2 | = ? E
Bleaching property of Sulphur di oxide (80,) is unstable. Why ?
(1) Tl & ST SRR H1 HRY W Hifer | !

Give the reason for anomalous behaviour of Fluorine.
HYCT (OR)

@) o v & T R @ R R
Write the preparation method of chlorine gas by Nelson cell.

[l

@) TERwH e @ <rafie sffs ke >
Write chemical reactions for the preparation of Chloroform.

(m e e [Syan folked | 1
Write the uses of Neon gas.

30. o= afaframell @ wmafte wiever wfta folRad— 125=5

Write the following reactions with chemical equations—

(@) Erhe afafsar (@) Uesral HawA
Stephen reaction Aldol condensation

@) SRR s (€) Bawicrs oifcie Al

Cannizzaro reaction Hell-Volhard-Zelinsky reaction

() wiSa—sred URciieyor sffhar
Friedal-Craft’s Acylation reaction
HYCT (OR)
et & a9 BT IR i fofed—

Write the chemical reactions for the preparation of following—

() Twifee | UHifes o (@) Twifessms 4 duifhae
Acetic acid from Acetylene Benzophenone from Benzaldehyde
(1) Cfew o | TEiice TTErEREs  (U) QwciesEizs 9§ UHEr
Acetic anhydride from Acetic acid Acetone from Acetaldehyde
@) wrifesazs A WA

Urotropine from formaldehyde

o ok ok ko
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